2T RNAR[MBIL—HFRBEHAER 244 A

No = 1/%(6:25) 3{%(7:05) 5{%(10:30) 7{%(12:10) 9{%#(15:30) 11/%(17:30) INGE
) E 3 % E 3 % E 3 % E 3 % E 3 % E 3 % E 3 %
1 |EERE[$]) 1 2 4
2 [WE/INFERE] 1 4 2 3 1 11
K EATES 32 9 5 1 47
4 [FESH 1 13 4 2 20
5 [BEE 1 1
6 [MEEERHI 1 1 6 3 3 14
>~ RERE
1B 1 3 1 1 6
8 |H#ED 1 1
9 [H2AREERT
10 [ILFO 8 8
11 |BEEF AR Al 5 5
12 [FESfREIERT 11 5 5 3 8 13 19
13 [fEHIASE DI IERT 4 4
14 [FEFE1R 11 11
15 [{EHEERHI 9 3 3 2 15 2
18 [/\iB B4 (KA FETO) 2 2 12 14 2
19 |B#HREFFSHI 4 23
20 | BEkAUEERET 1 28
21 | PR Ak 14
22 [{E€AJERT 1 5
23 | RTEFHI 1 1 3
24 |# A/ EHcET (LU SET) 2 2 2 3
25 |FiER
26 |2 TS5HHI
o7 |REERAI[#]
#EERAI[$]
28 |9 somiRRlE] | 6]
/Nat | 6] 6] 72] 71] e 72 49| 30| 9of o 13| 13| 249[ 211

2L 2{%(6:45) 4{E(7:44) 6{E(11:15) 81%(12:50) 10{%(16:15) 12{%(18:15) INEE

£ [ E 3 % Z % £ 3 3 £ 3 3 £ % £ %
3 St mieanl 2] L
o7 |FAEERAT( %] |
fizEREI(S] [ 28| | 81|
26 | YT S5HHI 64 7 41 16 3 124 7
25 |FiERE
24 [ A/ EHET GLILE R 1 1
23 | PR R ERI 1 5
22 [{E€AJERI 3 10
21 |FER SRR ]
20 | BEkAUEERAT 3 1 5 1 8 2
19 [BERETEHI 3 3 2 17 26
18 [/\iE+EdL (KA FETO) 9 21
17 |FRACEERD
16 |dLBERL S A HBIR A SRR 17
15 [{EHEEBHI 9 2 16
14 |[FEFE1X 10 11 21
1BlaEsAsEEsEEm| [0 | 1 2 4
12 |FEAREIERI 8 1 3 2 11 16
11 |BEEF R Al
10 |IUT™0A
9 |HAREERI 4
8 |HEO
7 |&E 2 2 1 9
7~ N
6 [MEEERFI 7 7 1 36
5 |BEE 1 1 2
4 [RESTH 8 9 7 3 27
K EINES 12 7 4 6 29
2 | MRE/INEARED 1 3 4
1 |ERElE] H H SH 6H ISH IH H 30
INET 29 30 107 125 69 88 31 31 12 12 248 286
Hi [ 16 | 16] 101 ] 1ot | 197 197 118 118] 40 | 40 | 25 | 25| 497 497
T IURES AT A% KR A% O RRI A% XA A% XA A% KA A% XRY OAGH
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
JREGZERATIT 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
BEREATE 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7 7
T OXBOREM 1 —RELJAEl. 2=1 (B ~2GRR /M) DR, 3=2 (A /M) ~3(Z) D, =3 (&) ~4(F) DH. 5=24(F=) ~

5(#) DR, 6=5 (%) ~6 (EE) DR, 7=6 (E{E) ~7 (HL) DM



